8 BAE AT A0 ehd 1), A, B, 5 Totol B4 B
2 ehola,

g 7Holl 50 ¥RV & a MOl A (50xA) ¥
ad, bS] Tt Ao g . {a+b }744

0% O] AR rg o] o} Qi 420] G - (—xx) o

I

it

0z
i
o]
I

)

v Vvv.vvyy
02
L
b
I
Q

02
il
@)
I

©

B ~

gt Aol 50 Dol FEa M g 50xa) ¥ - A=a

a?, bAA F R A B {(a+b)+2} Ao B=2
9

0% o) 238 xg ol ok Ak 23 F ¢ (- xx) &

- C=9




2.

ol thg Aol A 2x— 8y & MIE Y] —5x+ 3y 7} 9tk o] W A2
Fatolet,

of® ThFAlS Avty £H
A - (2x - 8y) = —5x + 3y ©]1L,
A =-5x+3y+2x—-8y

= -3x-05y




& % Vel A Y o shhe?

® a+bxc @ ax(c+b)
@ (axc)+b @a+(b><c)

® a+(b+c)

B

®a+b><C=ax%xc:a_bc
@ax(c+b):ax(%):%
®arra=as(g)=axj=5
1
@(GXC)H):ach:%
©a+(b><c):axi:£




4.

a=-4 b="3 A o Ao g2

a 11
+




x=2y=-3 4, 23x-2y) - 3(3x+dy) © L Ftolet,
=1

>
> HEh: 42

B

2(3x —2y) — 3(3x + 4y) = 6x — 4y — (9x + 12y)
— —3x- 16y
= -3x2-16x (-3)
— 6448 = 42




6.

the 17} 2ol A4zt ARG Bol 0719 S WS
o714 o] Bl

x—2
T~-8z42--77
@ 4x @ 4x+4 ® Tx+2
C@)llx—l—? ® 14x+4

2x-2)+30Bx+2)=2x-4+9x+6=11x+2




@7x - 10y @ -7x+ 10y ® -7x+2y

@ —x+2y ® —x-10y

B
(3x—4y)—|:|: —4x + 6y
[ ] =G4~ (4 t0y)

= 3x—4y + 4x - 6y
= Tx— 10y




8. x 9 AF7E6Q Aol Gk x =3 U 1] A9 FLax =5
w4l gL b kT T o a- b ] G2

D 62 @—12 ® 12 @ 48 ® -62

B ~

x 9| A%7k 6 Q1 DAL 6x + molet 5
a=6xX3+m=18+m
b=6x5+m=30+m
La-b=184+m-30—-m=18-30 = -12




9.

o2 FollA 718 x, + & k2 Ak

@ xx(=x) +yx(=2)% = —x2 -4y
2
@ x+(_y)xx+0.l><y:_x7+0’y

@ (_1)100+x+(_1)99><y:x_y
1 1 1

@x+_+__3+——2xy—3x
y 2

X




1 1 _
a=-2p=2 = TamliliCogeanan,
4 3 3 a b a m

n+m 2 F?
O 97 )98 ® 99 @ 100 ® 101

1+1+ 4 3+( " 4)

a b a 3 5 3 3

4 3 28

53 +45 = 98




